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Time: 2% Hours Total -Mark_s': 75

Note: 1) All questions carry equal marks and are compulsory.

2) Figures to the right indicate maximum marks for a question.

QL (A) Attempt any two sub-questions from (a), (b),(c) in Spreadsheet (2)
(True/False)
(@)  Wecan link two workbooks,
(b)  Formulas must begin with an equality sign, !
(¢c)  PPMT function returns the interest payment for 3 given period for an
investment based on periodic constant payments and a tonstant interest rate,

(B) Attempt any two sub-questions from (d), (e).(f) in MySQL (2)
(Multiple Choice) - ' o=y A
(d)  Toopen a database CLA__SS\Lhe‘st_a‘t’grr\xent . e : ;
1) SELECT CLASS 2)CHOOSE' CLASS 3) OPEN CLASS -4) USE; CLASS .
(e)  InMySQL, SELECT ‘_‘_"FR’O'M-"s_z’IlamEIMI:T"E},\Z; displays=--s-eseecicol 5 7S

o

Vallrows  2) sth6throws. ~ 3) 4th row twice 4) 4th and 5th rows

W el that there should be 6 integers and 2 decimal
positions we~"‘_ SoCRESh
1) DECIMALY

4) DECIMAL(28) 4

S

© Attempt'ﬂ@_f’;&;-“\su quéstions fr om [z%'jn[ﬁJa'(fJfUJe(k}_ff-j—fmJ-[nJ-[OJ (6)
in Data Commpnjcg_r?q s, Met@orking and Internet. (True/False).
(8)  Message is po‘g_a-_gomﬁpﬁgnﬂ datq communication,
In LAy-thére’méy}be*more thaRgaé'sgfer.
tis éasy-t'b-agdffgm@_Vé.a node in _r@ogy.
Oftisanetworkprotaroh. - = \S\

k) Fach URL consists of three parts,

A Pl On e gt %

) ANDis aBoolean operator,
 Google is a MetaSearch Engine,

) _“Wh i__té;}j'a‘ffa"ﬁé_,ﬁigﬁké_f{ég%}ig"ﬁr@ék computer security for non-harmfy] reasons
like to teshth&?gcyﬂty of the system.

\ At_teﬁi.p.tfé‘rilﬁipé_-.::-.-S;u.l}slquestions from (p),(q), (r),(s).(8),(u),(v),( w) (5)

3 3 g \inﬁDa'!_;a ‘Cdmﬁluh\'matjbns. Networking and Internet. (Multiple Choice)
S et s alse called Data Transmission,

3 :lﬂgﬁa@f\d-iﬁtﬁ@ﬁg@h 2) Data representation 3) Data Communication
* o 4) Noteof these
ala) < ’T-}'l.kﬁl’@s"t%"s\{ transmission media is---veee--.......___ _ ,
K <~:1j.j?iifi§?g_ﬁv pair  2) Fiber-optic 3)Co-axial  4) Wireless
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Q. P. Code : 0930:

(r)  Full form of HTTP j§------=nsecees-e-
1) Hyper Text Transfer Protocol 2)Hyper Test Transfer Protocol
3) Home Text Transfer Page 4) Hyper Text Transfer Page.

) is a device using which we can segment a large network into smaller
more efficient network. '
1)Hub 2) bridge  3) switch  4) router

(t) N ---m-eeeee topology all nodes are connected directly to a central system,
1)Star  2)Bus 3)Ring 4) Noneof these

(u)  The part before the @ symbol in an email address is «---==--=+=-=---

1) The Domain name 2) user name 3) sub domam name 4) None ofthese .
(v)  Google Chromeisa :

1) Hardware 2) Browser - 3) Utlllty software 4) Internet tool
(W) emmmmmeeeen allows user to search simultaneously on several search: engines.

1) Server 2) Boolean search. 3) Meta search englne 4) none of these.

QZ. (A) Answer any one sub-question from (a), (b) in Data Communications, (€
Networking and Internet. -
(a) Whatis netw01 kmg" Explaln different :ypes of Nez;works

(b rite short notesion (i) Brldges [i:.).r.ou_ters.

(B) ngWer any one . sub- questlon from (c), (d) in.Data:-Communications, (7
Nefw and Internet..
(€)  Expl l@”’ protocol e NN
(d) _,-Ex]_:'n_l.al_r_x nd types ofhackers
Q3. (A) . Answer any o -quest:on from (a) (b) in MySQL (8

(a) -~ Write MySQL St
- ~Nameé of Student (
SO _notbe empty) Gender @V
. beempty), Fees Paid (F_-

o create a table called ADMISSION having the columns
haracter with variable width 15 columns, should
LEjBoolean), Date of Birth (DOB, date, should not
Jl)ﬁﬁ m“tegers and 2 decimal places, positive).

: (b) \erte MySQL statement to @a table called ECHARGE containing

_ o e BR3P ‘-mformatlon of customers using electricity provided by XYZ company having

SU S o0 O icolumns - Customier: Number(CNO integer, primary key), Customer

E S SIS IO Name(CNAME «character with variable width 20, not empty), Customer

DL C I Address(CADR «character of fixed width 12, containing default entry

B3 RESIDENTIAL) Units.consumed (UNITS, integer) .
AnSwér anyone “sub- -question from (c), (d) in MySQL (7
o5 Explam the following built-in functions in MySQL.

')TmMQ( % 2)UPPER() 3) RIGHT() 4) DATE()

' S}YEAR() 6) DAYNAME()  7) POW()
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Y Write MySQL statements for the fol]
SEREEE )\ Display _Eéssengg?j_'aNynzbeni- Pas

Q. P. Code : 09303

3
(d)  There exists 3 table called TYCLASS
(RN, integer),
Subject offered
integer).
Write MySQL statements for the following,
i) Display the Structure of the tabje TYCLASS.
i) To delete the row from the table TYCLASS w
iii)Change the name of the column RN to RNQ.
iv)Increase the marks obtained in Sy by 5 for all the students,

V) Change the subject offered by the roll number 120 to ‘COMPUTER:,
vi) Add a new colump division

(DIVI character width 1) to this table after the
name column,
vii) Rename the table TYCLASS to TYBCOMCLASS.

having the following columns Roj] number
Name of the student (SNAME, character variable width 20),

(OPT, character width 10) and Marks obtained in SY(MKSY,

here rol] number is 126,

Answer any one sub-question from (a), (b) in MySQL
There exists a table RAIL having ¢

(8)
_ g the columns Station Number
Station Name (SNAM{; characte

(SNO, integer),
¢ r); Amount Collected (AMT, numeric).

Write MySQL statements for the W

i) Display Station' Number,

following, \ -
Station-name and Amount Callected from this tabje,
ii) Display Station
average Amount @6]I;

ber,.Station-Name whose Amount Collected is below the
iii) Display Station Narag

: - m@aximum Amount and tota] Amount Collected from
Stations grouped by Statigfl Names.

iv) D_I_sp_]ay'Stat‘i_,o_n‘-\e,N\unjb PStagion Name whose Amount Collected is equal to
the Highest Amo_g’z_;__tr(?oll_ette
i

v) Display all the rows-from, g 2" in- the. ascending order of amount
Collected. ; SRt (
(b) : Th\r_er\g--exigits a -taﬁi?"TRAV_EL.‘CDht-élbni_]‘lg- : Passenger Number (PNO,
'__'_in;e‘gcr;‘_Ipxjima'l_yjke‘jg); Passenger -Name » char(20)) and Age of
o 'Paésehgez_" '(._AGE,_-T-ii'p_It‘eger).' ~There exists ano table JOURNEY

_ re containing
O olumn; .--"‘Pafss‘e'n_g‘g;“\_mu_mQe‘t_:_-_(P-NO;- integer, prjnyuye ), Destination City
S LCITY: _c-h'_atj:(fl‘S}),f_‘Efé_tg(EAR E;de cimal(6,2)) and Da te df T, (DTR, date),
owing,

senger's Name and Fafe

for those having
TS __\:‘_;\.De's;z'n-atigfl_.c'i't_y;_’P'ﬁNEjijs_irgg both the tables,
AT ',_-:i:i)kDi's‘glay.":l?;ai"jssfehg{é_-rv'b_l__t;_g_xﬂ:ier’, Destination City and Date of Travel for those
-..wh_og_g_pa.;e--af-fr-,ravé}_js after May 15, 2017 ysi

g Pfay- Passenger - » rare from the table JOURNEY for those
. Pdssengerswhose Fate-is equal to th

A Sivy Display. :Passenger Number, F
* 5 JOURNEY for those

> :'.."‘f;:\?iﬁivsb\lag;a?y} the rows from the tapje
) ‘“wma{ﬂs 'S:;\ -'\ &

e highest Fare,

are and Date of Trav
'who want to travel in

TRAVEL where the passenger’s name
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Answer any one sub-question from (), (d) in MySQL (7)

(c)  There exists a table OFFICE containing columns employee number (ENO,
Integer), name of the employee (ENAME, character), department name (DEPT,
Character), Salary (SALARY, numeric), provident fund amount (PF, numeric)
and date of deduction (DEDDT, date). Write MySQL queries for the following.

i) Display the department name, maximum Salary and minimum of Salary
grouped as per department.

i) Display the department name, average provident fund amount and total of
the provident fund amount grouped as per department,

iii) Display the employee number, hame of the employee and Salary where the
Salary is above the average Salary. :
iv) Display all the rows from this. table where the employee number is divisible
by 7. :

(d) There exists a table BOOKS  containing  columns Account - Number
(ACNO, integer, primary key), Book Name (BNAME, character), Number of
copies (NCOPY,-integer), Value of the ‘book-( Value, integer) and Date of
Pubiication(_D\OP,lDa_tej. LN NS S a8 AT ;

te MySQL queries for the following, .
i iay all the rows from this table: . S
o y?ai'l}-'f_he rows from thistable in alphabetical order of book name.

iif) D\@thé. columns Account number, Book name and Date of Publication

from thi€'t T :

iv):Displa¥ thefsteucture of the table BOOKS.

V) Display thp\.r. this table where the date of Publication is after March
2011, & Ok ' B AR NS
<-vi) Display all the rw this table inthe descending order of Value of the

i = ’.:.\‘,' Bo:o.l.{_': ‘- B I’" 3 NS \ Ty = '
5 ,-s)"}'_i)-'_[_)l‘splély-?all;thé _I'OWS'ﬂ_“@'S tébI‘e where the first letter in the Book Name
SIS ‘/
o -Answerany one :_jsut}.-Que_s-tionffrOHQ (b) in MS-EXCEL (8)
~day .'_'"_l_-‘iig‘qulllqnfiﬂn“ég;iq_t&_hég,;bgeq:.entered in a worksheet
CoolA T oSG | B C E
1 [ FNAME ™ =~ = L NAME AGE SALARY
2 L SARIME O KHAN 45 45000
_ 'ANANT KULKARNI 30 30000
24 RAHUL SHAH 35 55000
S S AANA MEHTA 30 40000
162 < [sRAJNI MEHTA 46 20000
7> L ASHA SHAH 35 25000
=<' AAMIR KHAN 45 55000
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Q. P. Code : 09303 -

Write steps to do the following;-

i) Arrange data in the descending order of age and Further in the. asceudmg
order of Salary. ) o
ii) Arrange the data in the alphabetic order of I Name and furthek in the S04 S
descending order of F Name. :

(b)  For the following spreadsheet obtain the Pivot' table shoMHng":vtot_a] Salaryand
average Salary Gender wise in column F1. . < - '

A B S LS TN TS S 2N
1 | NAME CITY '~ < GENDER- -~ I'SALARY - B e R
2_| SHAAN NASIK - = ([ MADES- = = 13500007~ = |- - =
3 | ADITYA MUMBAI _'MALE "~ 550000
4 | SARITA PUNE. - ° FEMALE . " = 540000 .
5 | NIKKI NASIK_ o | FEMALE — - ['550000
6 | RIDHI APUNE O O 30 gFEMALE‘_x T 670000
7 | SUMIT —-“*'-'_FMUMBAI \_‘é"___:? MALE 4‘f = 700000~
Q5. (B) Answer any ongf's '-questlonfrom {c) (d) in MS EXCEL i (7)
(¢)  The following3 \g‘ “_ agheen enteredin a wor ksheet 2
A g s'-j‘ 1 ¢ P ok P E‘ B (G j
11 | NAME- T AXD | MHRM - | ECO - | TOTAL | AVERAGE
2 - KIRTL. " o]-867 |80 #5615 -
3 |RIDHI. - |82 [78 1 58
4 [ADITYA . |94 |89 [ 72 |
5 [GAURAV ~ |76 |70 |64 5 |
6 | MITALI" 79" 167 - 459"
7. | HIGHEST | -~ =] A~ P ]
" Write, thesteps to, obtam S e, O |
1) TOTAL marks in column F. -~

ii) AVERAGE marks as average of best three in column G, |
iii) HIGHEST marks sub]ect Wlse in cells B7,C7, D7 and E7 respectively,

(d) Explai_n.the following b_u'ilt_-in functions in MS-EXCEL

;;-,Fv‘(j;. iZIEIP-MT( ) 3. ROUNDUP( ) 4. NPER()
5.CEILING() -6.MOD() 7.SQRT()
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